ohe TIHOA] Lx+ 2y O] 3 FH5HH?

@ 150° @ 160° ® 170°

@ 180° ® 190°




N 7~
-2 T A 5.0ptAC = 5.0ptBD
o]31 /ABC =25° ¥ uff, /ZAPD 9] 2
7172

4

@D 100° ® 110° ?® 120° @ 130° G 140°



ol sk

[e]
L
)

th-& gABCD Z]|A]

3.

1303,

N
=]

50"

KAV



o2 A A4 PQ 7Y O o FA
o]_,—l_ 7§ B 7". 147(401 EH /AOC _/] 37]

LSy
.

@® 95° @ 100° ® 105°
@ 110° G 115°




5. o5& "4 CD=3,DP=1,PE=2¢% |, EF & doJE?

C

i



g1 9] 4 3o AH 53 ZA) A A Ho] ol 45 Hol ek,
5. 319] A8 A2l ol 5 87129 Bitol 4 879 Bikrrt5
=REEEEEEREES ETRE

@ 1474 @ 164 3 184 @ 204 G 224



the o] BEWAES LAY x, y, 2 AL B, x, y, 2 O A BAE
HR2 7] bl 29

F

X : 1 %€ 100 7HA] 9] &5
Y 1 5E 100 7kA] €] 2 ©f Hj4
Z 1 15E 150 742 9] 3 9] w4

®x=y=z @x:y<z ®x<y:z

@ x=y>z ® x<y<z



8. TR RS W 5, 7, x, v, 8 O Baol 6 o1, BAtol 5 U, 21y
o ghe atelet.

e
-



<] o)l

— 1.!1_
ol T

™ or

~

.mo.b <t [2p) N —
~

07750 60 70 80 90 100(=)

@ 74 ® 76 @ 78 ® 80

D 72



10. t5 ™A 2x+ 2y & 2715 F5tofzt




11.

Hit Zo] T H A B b= F 90,0 ol 5% £
;\_17 = Avto]l HH-E 7+ P, Q 2kl SHAE. ZAPB = 38°, /A

68° d o, /PAQ 9] A7=?

Ello

44
QB

@ 36° @) 37° 3) 38° @ 39° 3B 40°

AL
=



12. o= ZId™lA x o gt& F5tof=t




13.

U 183 gol &= ¥ 0, 0 9] 359
4 CD ¢ 5@ AB o] Aol A
P oA 9hdt} PA = lem, AB = 4cm
o o, CD & Zol=?

@ 4cm @ 2+v3cm
@ 2+5cm 3 2v6cm

® 3+v2cm



Y| vt sHA) 30 o] =7
o

19 S 2100, BNl AF e
150000 &, 5] ¥t SHAY & o

14. A
g Fotoer,

=

5

kel
ey

b

o



15. t& IHofA AB = 8cm, BC = 6cm, AD = 7cm, DE = 9cm ©] 11,
/BFD = 120°, /FCB = 35° & W, /ADF 2] 27|12 5ofa}.




